
Corrections Savoir Fr. 4  
 

 
 

 

Corrigé Exercice  11   
 

 
1) 𝐴 = 2 − 5𝑒 

𝐴 ≃ −11,59 

 

 

2) 

𝐵 = 7 + 8𝑒9 

𝐵 ≃ 64 831,67 

𝐶 = 𝑒3 − 5𝑒2 

𝐶 ≃ −16,86 
𝐷 =

4 − 2𝑒3

2 − 𝑒3
 

𝐷 =
2(2 − 𝑒3)

2 − 𝑒3
 

𝐷 = 2  

𝐸 = (1 − 𝑒)(2 + 1) 

𝐸 = 3(1 − 𝑒) 

𝐸 = 3 − 3𝑒  

𝐸 ≃ −5,15 

 

a.  𝑓(0) = 𝑒0 − 3 × 0 = 1 − 0 = 𝟏 𝑓(1) = 𝑒1 − 3 = 𝒆 − 𝟑 ≃ −0,28 𝑓(−2) = 𝒆−𝟐 + 𝟔 ≃ 6,14 

b.  𝑔(0) = (2 × 02 − 3 × 0)𝑒0 
𝑔(0) = 0 × 1 = 𝟎 

𝑔(1) = (2 × 12 − 3 × 1)𝑒1 
𝑔(1) = (2 − 3)𝑒 = −𝒆 ≃ −2,72 

𝑔(3) = (2 × 9 − 9)𝑒3 
𝑔(3) = 𝟗𝒆𝟑 ≃ 180,77 

c.  
ℎ(0) =

0 × 𝑒0

2 − 0
=

0 × 1

2
= 𝟎 ℎ(1) =

1𝑒1

2 − 1
= 𝒆 ≃ 2,72 

ℎ (−
1

2
) =

−
1
2 𝑒− 

1
2

2 +
1
2

= −
1

2
𝑒− 

1
2 ÷

5

2
 

ℎ (−
1

2
) = −

𝟏

𝟓
𝒆− 

𝟏
𝟐  ≃ −0,12 

 

Corrigé Exercice  12   
 

1)  𝑓(𝑥) = 2𝑒𝑥 ⇒  passe par (0; 2)    ⇒  courbe 𝒞2      

𝑔(𝑥) = 4 − 𝑒𝑥   ⇒  passe par (0; 3) ⇒  courbe 𝒞1      

 ℎ(𝑥) = 2𝑥𝑒𝑥        ⇒  passe par (0; 0)  ⇒  courbe 𝒞3      

 𝑖 (𝑥) = 𝑒𝑥 − 2 ⇒  passe par (0; −1) ⇒  courbe 𝒞4      
 

2)  
 

 
 
 

 
Corrigé Exercice  13   
 

𝟏) 𝐹 = 𝟑𝒆𝟕 
𝐹 ≃ 3 289,9 

𝐺 = 𝑒1 = 𝒆 
𝐺 ≃ 2,72 

𝐻 = 2𝑒1 + 3𝑒0 
𝐻 = 𝟐𝒆 + 𝟑 
𝐻 ≃ 8,4 

𝐼 =
𝟓

𝒆−𝟒 + 𝟏
  

𝐼 ≃  4,9 

𝐽 =
𝑒1 × 𝑒0

3𝑒
=

𝑒

3𝑒
=

𝟏

𝟑
 

𝐽 ≃ 0,3  
 

2)  
a.  𝑓(3) = 3 × 3𝑒3−2 = 𝟗𝒆 

𝑓(3) ≃ 24,5 
𝑓(2) = 6𝑒0 = 𝟔 𝑓(1) = 3𝒆−𝟏 

𝑓(1) ≃  1,1 

b.  𝑔(0) = (3 − 𝑒0)(0 + 1) 
          = 3 − 1 = 𝟐 
 

𝑔(1) = (𝟑 − 𝒆)(𝟐𝒆−𝟏 + 𝟏) 
𝑔(1) ≃  0,5 
 

𝑔(2) = (𝟑 − 𝒆−𝟐)(−𝟒𝒆𝟐 + 𝟏) 
𝑔(2) ≃ −81,8 
 

c.  
ℎ(0) =

1 + 𝑒0

1 − 0𝑒0
 

ℎ(0) =
1 + 1

1
= 𝟐 

ℎ(1) =
𝟏 + 𝒆𝟐

𝟏 − 𝒆
 

ℎ(1) ≃ −4,9 
ℎ (−

1

2
) =

1 + 𝑒−1

− 
1
2 𝑒−

1
2

=
−2 (1 +

1
𝑒)

1

𝑒
1
2

= −𝟐𝒆
𝟏
𝟐 (𝟏 +

𝟏

𝒆
) 

ℎ (−
1

2
) ≃ −4,5   

𝑥 –3 –2,5 –2 –1,5 –1 –0,5 0 0,5 1 

𝑘(𝑥) 14,8 9,0 5,4 3,3 2 1,2 0,7 0,4 0,3 

𝐶𝑘  



3)  
 

𝑥 –2 –1,5 –1 –0,5 0 0,5 1 1,5 2 

𝑓(𝑥) 2,7 0,5 0,14 0,06 0,05 0,06 0,14 0,5 2,7 

 

 

 

 

 

𝐶𝑓  


